ERG Addendum 25/05/2010: Applying HR of 0.77 to Revised MS model

1) For OS only
The HR for OS of ECX/EOX vs CX changed to 0.77 from 1.

The HR of ECF vs ECX is still 1.15

Strategy Mean Costs Mean QALYs ICER

HCX £26,891 0.980 £84,373
HCF £26,933 0.905 Dominated
ECX £15,898 0.850

EOX £17,927 0.850 Dominated
ECF £16,977 0.783 Dominated

2) For OS and PFS

The HR for OS and PFS of ECX/EOX vs CX changed to 0.77 from 1.
The HR of ECF vs ECX is still 1.15

Strategy Mean Costs Mean QALYs ICER

HCX £26,891 0.980 £99,797
HCF £26,933 0.905 Dominated
ECX £15,665 0.850

EOX £17,851 0.850 Dominated
ECF £16,994 0.783 Dominated




